# CITY OF EL PASO, TEXAS AGENDA ITEM DEPARTMENT HEAD'S SUMMARY FORM

DEPARTMENT:	Capital Improvement
AGENDA DATE:	October 29, 2019
CONTACT PERSON/PHONE:	Sam Rodriguez, City Engineer, (915) 212-1845 Bruce D. Collins, Purchasing & Strategic Sourcing Director, (915) 212-1181
DISTRICT(S) AFFECTED:	7
STRATEGIC GOAL: NO. 7	Enhance and Sustain El Paso's Infrastructure Network
SUBJECT: Discussion and action on the award of INC. for an estimated total amount of \$6	Solicitation 2019-1343 Holly Place Reconstruction to LESNA CONSTRUCTION 655,271.40.
includes the demolition of existing of si consisting of Hot Mix Asphaltic Concret	et reconstruction of Holly Place between Montecito Road and Mauer Road. The work dewalk, driveways, ramps and existing pavement structure, new pavement structure (HMAC) with base course and compacted subgrade, new ADA compliant sidewalks ps, dark sky compliant street lights and new street signage, drainage improvements eplacement.
	7, 2019 and September 3, 2019. The solicitation was posted on City website on Augustion was sent out on August 29, 2019. There were a total of ninety-three (93) viewers cal vendors.
PROTEST	
No protest received for this requires	ment.
Protest received.	
COUNCIL REPRESENTATIVE BR	RIEFING:
Was a briefing provided? Yes or If yes, select the applicable districts	
District 1 District 2 District 3 District 4 District 5 District 6 District 7	

District 8
All Districts

Amount: \$655,271.40 Source: 2013 Street Infrastructure Certificates of Obligation 580220-4740-190-PCP19ST010
PRIOR COUNCIL ACTION:
N/A
BOARD / COMMISSION ACTION: N/A
DEPARTMENT HEAD:

AMOUNT AND SOURCE OF FUNDING:

# COUNCIL PROJECT FORM (Low Bid)

#### 

Please place the following item on the **REGULAR AGENDA** for the Council Meeting of **OCTOBER 29, 2019**.

#### STRATEGIC GOAL 7: Enhance and Sustain El Paso's Infrastructure Network

Discussion and action on the award of Solicitation 2019-1343 Holly Place Reconstruction to LESNA CONSTRUCTION, INC. for an estimated total award of \$655,271.40. The project will consists of the full street reconstruction of Holly Place between Montecito Road and Mauer Road. The work includes the demolition of existing of sidewalk, driveways, ramps and existing pavement structure, new pavement structure consisting of Hot Mix Asphaltic Concrete (HMAC) with base course and compacted subgrade, new ADA compliant sidewalks and driveways, new ADA concrete ramps, dark sky compliant street lights and new street signage, drainage improvements, water replacement and sanitary sewer replacement.

Department: Capital Improvement

Award to: LESNA CONSTRUCTION, INC.

El Paso, TX

Item(s):

Initial Term: 210 Consecutive Calendar Days

 Base Bid I:
 \$377,252.40

 Base Bid II:
 \$113,265.60

 Base Bid III:
 \$81,593.40

 Base Bid IV:
 \$83,160.00

 Total Estimated Award:
 \$655,271.40

Account No.: 190-4740-289000-580220-PCP19ST010

Funding Source: 2013 Street Infrastructure Certificates of Obligation

District(s): 7

This is a Low bid, unit price contract.

The Purchasing & Strategic Sourcing and Capital Improvement Departments recommend award as indicated to LESNA CONSTRUCTION, INC., the lowest responsive, responsible bidder.

It is requested that the City Manager be authorized to establish the funding sources and make any necessary budget transfers and execute any and all documents necessary for execution of this award.

Work under this unit price contract is only an estimated value and will be ordered, performed, invoiced, and paid by measured quantity. The actual cost of this contract may be higher or lower than the total estimated value and will be the sum total of unit prices at the end of the contract term.

As a part of this award, upon the review of the City Attorney, the City Engineer may without further authorization from City Council approve contract changes which are necessary for proper execution of the work and carrying out the intent of the project, which are in accordance with applicable law, do not make changes to the prices and are within the appropriate budget.

	2019-1343 Holly Place Reconstruction Bid Tab Summary										
	LESNA CONSTRUCTIO INC.	International Eagle Enterprises, Inc.	Horizone Construction 1, LTD	Del Mar Contracting Inc	Black Stallion Contractors, Inc.						
Base Bid I	\$ 377,525.4	0 \$ 367,923.94	\$ 366,323.04	\$ 414,527.40	\$ 423,107.45						
Base Bid II	\$ 113,265.6	0 \$ 162,079.05	\$ 118,015.40	\$ 166,447.00	\$ 183,713.77						
Base Bid III	\$ 81,593.4	0 \$ 84,077.70	\$ 90,214.21	\$ 110,724.00	\$ 115,283.56						
Base Bid IV	\$ 83,160.0	0 \$ 73,935.75	\$ 93,968.54	\$ 81,907.00	\$ 108,981.10						
Total	\$ 655,544.4	0 \$ 688,016.44	\$ 668,521.19	\$ 773,605.40	\$ 831,085.88						





BID TITLE: HOLLY PLACE RECONSTRUCTION

BID NO: 2019-1343

BID DATE: SEPTEMBER 25, 2019

DEPARTMENT: CAPITAL IMPROVEMENT

BID DA	TE: SEPT	EMBER	R 25, 2019				DEPAR	TMENT: CAPITA	L IMPROVEMENT
				Black Stallion (	Contractors, Inc.	Del Mar Cor	ntracting Inc	Horizone Con	struction 1, LTD
	\$1.00 (c) (d)			El Pa	so, TX	El Par	so, TX	EI Pa	150, TX
Minister ser				BIDDEI	R 1 OF 5	BIDDEF	R 2 OF 5	ı	R 3 OF 5
ITEM NO.	APX QTY	UNIT	BRIEF DESCRIPTION OF ITEM	UNIT PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) DO NOT ROUND ONLY TWO DECIMALS	UNIT PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) DO NOT ROUND ONLY TWO DECIMALS	UNIT PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) DO NOT ROUND ONLY TWO DECIMALS
			BASE BID I: HOLLY PLACE	RECONSTRU	CTION DRAINA	GE IMPROVE	MENTS	164 - 231 - 11 AN 185 - 11 AN	
1.	1	LS	STORMWATER POLLUTION PREVENTION MEASURES, COMPLETE IN PLACE	\$17,550.00	\$17,550.00	\$10,000.00	\$10,000.00	\$14,808.73	\$14,808.73
2.	1	LS	TRAFFIC CONTROL, COMPLETE IN PLACE	\$17,550.00	\$17,550.00	\$25,000.00	\$25,000.00	\$10,890.00	\$10,890.00
3.	266	LF	TRENCH SAFETY SYSTEM: TRENCH BOX METHOD OR SHORING, SHEETING, AND BRACING METHOD	\$11.70	\$3,112.20	\$30.00	\$7,980.00	\$2.92	\$776.72 Contractor's
							i i		Price: \$777.29
4.	2.761	SY	REMOVAL AND DISPOSAL OF EXISTING ASPHALT	\$14.04	\$38,764.44	\$7.00	\$19,327.00	\$9.50	\$26,229,50
	,, 0		PAVEMENT	,			, , , , , , , , , , , , , , , , , , , ,	<b>V</b>	Contractor's Price: \$26,228,93
5.	693	SF	REMOVAL AND DISPOSAL OF EXISTING CONCRETE	\$3.51	\$2,432.43	\$3.00	\$2,079.00	\$4.40	\$2,841,30
Э.	ชยง	3F	DRIVEWAYS	φ <b>3.</b> 31	\$2,432.43	\$3.00	\$2,079.00	\$4.10	Contractor's Price: 2,838.18
								***	\$5,492.76
6.	2,012	SF	REMOVAL AND DISPOSAL OF EXISTING CONCRETE DRIVEWAYS	\$1.58	\$3,178.96	\$3.00	\$6,036.00	\$2.73	Contractor's Price: \$5,494.85
			REMOVAL AND DISPOSAL OF EXISTING CURB &						\$4,493.88
7.	876	LF	GUTTER	\$4.68	\$4,099.68	\$5.00	\$4,380.00	\$5.13	Contractor's Price: 4,493.21
			REMOVAL AND DISPOSAL OF EXISTING CONCRETE						\$6,238.68
8.	4,244	SF	SIDEWALKS	\$1.29	<b>\$5,474</b> .76	\$3.00	\$12,732.00	\$1.47	Contractor's Price: \$6,218.19





**BID TITLE: HOLLY PLACE RECONSTRUCTION** 

BID DA	D DATE: SEPTEMBER 25, 2019 DEPARTMENT: CAPITAL IMPROVEMENT									
		120 (8) (8) (1) (9) (2) (2)		Black Stallion (	Contractors, Inc.	Del Mar Cor	itracting Inc	Horizone Con	struction 1, LTD	
				El Pa	so, TX	El Par	io, TX	El Pa	180, TX	
(3) siji. (3)		49 (N AS) (		BIDDEI	R 1 OF 5	BIDDER		BIDDE	R 3 OF 5	
ITEM NO.	APX QTY	UNIT	BRIEF DESCRIPTION OF ITEM	UNIT PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) DO NOT ROUND ONLY TWO DECIMALS	UNIT PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) DO NOT ROUND ONLY TWO DECIMALS	UNIT PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) DO NOT ROUND ONLY TWO DECIMALS	
1712 (77) (71)	185 185 (5)	67 (A. 1911) 1	BASE BID I: HOLLY PLACE	RECONSTRU	CTION DRAINA	GE IMPROVE	MENTS		P0001	
			REMOVAL AND DISPOSAL OF EXISTING CONCRETE						\$1,172.47	
9.	29	SF	WALKWAYS	\$11.70	\$339.30	\$3.00	\$87.00	\$40.43	Contractor's Price: \$1,172,37	
			REMOVAL AND DISPOSAL OF EXISTING CONCRETE					.00 \$2.46	\$2,637.12	
10.	1,072	SF	LANDSCAPING	\$1.40	\$1,500.80	\$3.00	\$3,216.00		Contractor's Price: \$2,632.48	
11.	3,560	SF	REMOVAL AND DISPOSAL OF EXISTING GROUND	\$1.17	\$4,165.20	\$3.00	\$10,680.00	30 \$1.74	\$6,052.00 Contractor's	
			LANDSCAPING				·		Price: \$6,036.69	
			REMOVAL AND DISPOSAL OF EXISTING						\$3,517.08	
12.	6	EA	VEGETATION	\$140.40	\$842.40	\$900.00	\$5,400.00	\$586.18	Contractor's Price: \$3,517.11	
			REMOVAL AND DISPOSAL OF EXISTING ROCK						\$1,353.72	
13.	58	LF	WALL	\$35.10	\$2,035.80	\$25.00	\$1,450.00	\$23.34	Contractor's Price: \$1,353.87	
			REMOVAL AND DISPOSAL OF EXISTING CHAIN-						\$1,824.16	
14	208	LF	LINK FENCE (FENCE & GATES INCLUDED)	\$5.85	\$1,216.80	\$5.00	\$1,040.00	\$8.77	Contractor's Price: \$1,824.68	
			REMOVAL AND DISPOSAL OF EXISTING WROUGHT						\$1,692.44	
15,	58	LF	IRON FENCE (FENCE & GATES INCLUDED)	\$9.36	\$542.88	\$15.00	\$870.00	\$29.18	Contractor's Price: \$1,692.67	





BID TITLE: HOLLY PLACE RECONSTRUCTION

BID DA	TE: SEP	TEMBER	R 25, 2019				DEPAR	TMENT: CAPITA	L IMPROVEMENT
				Black Stallion Contractors, Inc.		Del Mar Contracting Inc		Horizone Construction 1, LTD	
	45 19. (1) (8.			ElPa	so, TX	El Pa	so, TX	El Pa	iso, TX
EDD CONTRACTOR		(48) (19) (8) (8)	races and later and the second of the second	BIDDE	R 1 OF 5	BIDDEF	R 2 OF 5	BIDDE	R 3 OF 5
ITEM NO.	APX QTY	UNIT	BRIEF DESCRIPTION OF ITEM	UNIT PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) DO NOT ROUND ONLY TWO DECIMALS	UNIT PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) DO NOT ROUND ONLY TWO DECIMALS	UNIT PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) DO NOT ROUND ONLY TWO DECIMALS
SANSANNAN	<b>15</b> 11 (21 (31) (31)		BASE BID I: HOLLY PLACE	RECONSTRU	CTION DRAINA	GE IMPROVE	MENTS		
16.	2	LF	REMOVAL AND DISPOSAL OF EXISTING WROUGHT IRON FENCE GATES	\$468.00	\$936.00	\$400.00	\$800.00	\$181.50	\$363.00
17.	2	EA	REMOVAL AND DISPOSAL OF EXISTING CURB INLETS	\$1,755.00	\$3,510.00	\$1,800.00	\$3,600.00	\$1,172.37	\$2,344.74
18.	2	EA	REMOVAL AND DISPOSAL OF EXISTING MANHOLES	\$1,755.00	\$3,510.00	\$1,800.00	\$3,600.00	\$1,172.37	\$2,344.74
19.	62	LF	REMOVAL AND DISPOSAL OF EXISTING STORM	\$17.55	\$1,088.10	\$40.00	\$2,480.00	\$13.92	\$863.04
			PIPE				***		Contractor's Price: \$862.73
20.	2	EA	REMOVAL OF EXISTING SIGN POSTS, SIGNS	\$819.00	\$1.638.00	\$150.00	\$300.00	\$500.40	\$1,172.36
20.	4	LA	RESERVED FOR RELOCATION	\$019.00	\$1,050.00	\$130.00	<b>\$300.00</b>	\$300.10	Contractor's Price: 1,172.37
21.	451	CY	UNCLASSIFIED EXCAVATION, EXPORT AND	\$18.72	\$8,442.72	\$30.00	\$13,530,00	\$25.35	\$11,432.85 Contractor's
			PROPER DISPOSAL OF UNSUITABLE SOILS		W.O.1-1 (2011 20	\$50.00	Ψ10,000,00		Price: \$11,434.02
20	31	CY	EARTHWORKS (CUT TO SHIL)	<b>\$22.40</b>		045 00	# 40E 00	መስማ ባ4	\$1,156.61
22,	31	UY	EARTHWORKS (CUT TO FILL)	\$23.40	\$725.40	\$15.00	\$465.00	\$37.31	Contractor's Price: \$1,156.73





**BID TITLE: HOLLY PLACE RECONSTRUCTION** 

BID DA	TE: SEP	TEMBER	R 25, 2019				DEPAR	TMENT: CAPITA	L IMPROVEMENT
				Black Stallion	Contractors, Inc.	Del Mar Cor	ntracting Inc	Horizone Con	struction 1, LTD
				El Pa	so, TX	El Pa	so, TX	EIP	iso, TX
				BIDDE	R 1 OF 5	BIDDEF	R 2 OF 5	BIDDE	R 3 OF 5
ITEM NO.	APX QTY	UNIT	BRIEF DESCRIPTION OF ITEM	UNIT PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) DO NOT ROUND ONLY TWO DECIMALS	UNIT PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) DO NOT ROUND ONLY TWO DECIMALS	UNIT PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) DO NOT ROUND ONLY TWO DECIMALS
aprasa (gor	80 Me 184 765	90 31 Gan	BASE BID I: HOLLY PLACE	RECONSTRU	CTION DRAINA	AGE IMPROVE	MENTS		1910-1917 (0) (13.15) (3.15)
23.	229	CY	IMPORT, SELECT FILL	\$17.55	\$4,018.95	\$31.00	\$7,099.00	\$37.16	\$8,509.64 Contractor's Price: \$8,508.75
24.	2,729	SY	FURNISH AND INSTALL 2" HMAC, TYPE C, CLASS A, WITH 6" BASE COURSE, TYPE A, GRADE 1, ALL SUBGRADE PREP AND PRIME COAT INCLUSIVE, COMPLETE IN PLACE	\$26.91	\$73,437.39	\$25.00	\$68,225.00	\$27.45	\$74,911.05 Contractor's Price: \$74,905.96
25.	2,853	SY	SUBGRADE PREPARATION, SCARIFYING NATIVE SOILS TO A DEPTH OF 12 INCHES, COMPLETE IN PLACE	\$10.53	\$30,042.09	\$3.00	\$8,559.00	\$3.69	\$10,527.57 Contractor's Price: \$10,535.35
26.	257	SY	FURNISH AND INSTALL RESIDENTIAL DRIVEWAY, 3500 PSI 6" CONCRETE W/6X6, W2.9XW2.9 WWF, COMPLETE IN PLACE	\$58.50	\$15,034.50	\$80.00	\$20,560.00	\$75.20	\$19,326.40 Contractor's Price: \$19,325.47
27.	86	SY	FURNISH AND INSTALL RESIDENTIAL DRIVEWAY EXTENSION, 3500 PSI 6" CONCRETE W/6X6, W2.9XW2.9 WWF, COMPLETE IN PLACE	\$64.35	\$5,534.10	\$80.00	\$6,880.00	\$92.40	\$7,946.40 Contractor's Price: \$7946.29
28.	855	LF	FURNISH AND INSTALL 6" CURB & GUTTER , 3000 PSI CONCRETE, COMPLETE IN PLACE	\$16.38	\$14,004.90	\$20.00	\$17,100.00	\$18.64	\$15,937.20 Contractor's Price: \$15,939.45
29.	278	LF	FURNISH AND INSTALL RETAINING CURB, 3000 PSI CONCRETE, COMPLETE IN PLACE	\$23.40	\$6,505.20	\$23.00	\$6,394.00	\$23.99	\$6,669.22 Contractor's Price: \$6,668.55
30.	495	SY	FURNISH AND INSTALL 4" CONCRETE SIDEWALK, 3000 PSI, COMPLETE IN PLACE	\$40.95	\$20,270.25	\$60.00	\$29,700.00	\$41.15	\$20,369.25 Contractor's Price: \$20,369.99





BID TITLE: HOLLY PLACE RECONSTRUCTION

BID NO: 2019-1343

BID DA	TE: SEP	TEMBER	R 25, 2019				DEPAR	TMENT: CAPITA	L IMPROVEMENT
				Black Stallion (	Contractors, Inc.	Del Mar Cor	itracting Inc	Horizone Con	struction 1; LTD
			marketining place of the dependence of the control		so, TX R 1 OF 5	11	so, TX R 2 OF 5		nso, TX R 3 OF 5
ITEM NO.	APX QTY	UNIT	BRIEF DESCRIPTION OF ITEM	UNIT PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) DO NOT ROUND ONLY TWO DECIMALS	UNIT PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) DO NOT ROUND ONLY TWO DECIMALS	UNIT PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) DO NOT ROUND ONLY TWO DECIMALS
100000000			BASE BID I: HOLLY PLACE	RECONSTRU	CTION DRAINA	GE IMPROVE	MENTS		
31.	4	SY	FURNISH AND INSTALL 4" CONCRETE WALKWAY EXTENSION, 3000 PSI CONCRETE W/ 6"X6" 4/4 WWF, COMPLETE IN PLACE	\$58.50	\$234.00	\$60.00	\$240.00	\$561,26	\$2,245,04 Contractor's Price: \$2,245.03
32.	1,115	SF	FURNISH AND INSTALL 6" CONCRETE VALLEY GUTTER, 3000 PSI CONCRETE, COMPLETE IN PLACE	\$21.06	\$23,481.90	\$28.00	\$31,220.00	\$11.42	\$12,733.30 Contractor's Price: \$12,731.40
33.	2	EA	FURNISH AND INSTALL ACCESSIBLE RAMP, PER PLAN, COMPLETE IN PLACE	\$994.50	\$1,989.00	\$1,000.00	\$2,000.00	\$1,918.55	\$3,837.10 Contractor's Price: \$3,837.09
34.	2,821	SY	FURNISH AND INSTALL LANDSCAPE GRAVEL FOR PARKWAY (INCLUDES WEED BARRIER)	\$10.53	\$29,705.13	\$9.00	\$25,389.00	\$10.75	\$30,325.75 Contractor's Price: \$30,325.63
35.	14	EA	REPLACE/INSTALL MAILBOXES ALONG ROADWAY	\$1,053.00	\$14,742.00	\$225.00	\$3,150.00	\$568.32	\$7,956.48
36.	4	CY	INSTALL 2-SACK FOR MAILBOX REPLACEMENT	\$234.00	\$936.00	\$250.00	\$1,000.00	\$309.73	\$1,238.92
37.	61	LF	FURNISH AND INSTALL MASONRY ROCK WALL WITH WROUGHT IRON VIEW FENCE, COMPLETE IN PLACE	\$117.00	\$7,137.00	\$180.00	\$10,980.00	\$78.95	\$4,815.95 Contractor's Price: \$4,816.10
38.	208	LF	RE-INSTALL CHAIN-LINK FENCE AND GATES, COMPLETE IN PLACE	\$29.25	\$6,084.00	\$20.00	\$4,160.00	\$12.10	. \$2,516.80
39.	79	LF	RE-INSTALL WROUGHT IRON FENCE AND GATES, COMPLETE IN PLACE	\$105.30	\$8,318.70	\$20.00	\$1,580.00	\$18.15	\$1,433.85

**CITY OF EL PASO** 

Approved By: /s/ Date: 10/01/2019



#### **BID TABULATION FORM**



BID NO: 2019-1343

BID TITLE: HOLLY PLACE RECONSTRUCTION

BID DATE: SEPTEMBER 25, 2019

**DEPARTMENT: CAPITAL IMPROVEMENT** Black Stallion Contractors, Inc. **Dei Mar Contracting Inc** Horizone Construction 1, LTD El Paso, TX El Paso, TX El Paso, TX BIDDER 1 OF 5 **BIDDER 2 OF 5** BIDDER 3 OF 5 **TOTAL AMOUNT TOTAL AMOUNT TOTAL AMOUNT** (QUANTITY X UNIT (QUANTITY X UNIT **(QUANTITY X UNIT** ITEM **APX UNIT PRICE UNIT PRICE** PRICE) **UNIT PRICE** PRICE) PRICE) UNIT **BRIEF DESCRIPTION OF ITEM** NO. QTY (IN FIGURES) DO NOT ROUND (IN FIGURES) DO NOT ROUND (IN FIGURES) DO NOT ROUND **ONLY TWO ONLY TWO ONLY TWO** DECIMALS DECIMALS **DECIMALS** BASE BID I: HOLLY PLACE RECONSTRUCTION DRAINAGE IMPROVEMENTS \$102.30 \$10.23 Contractor's 40. 10 EΑ PRESERVING EXISTING TREES \$234.00 \$2,340.00 \$150.00 \$1,500.00 Price: \$808.04 3 EΑ FURNISH AND INSTALL WOOD BOLLARDS \$409.50 \$1,228.50 \$600.00 \$1,800.00 \$605.00 \$1,815.00 RE-INSTALLATION STREET NAME SIGN & 30" STOP 42. 2 EΑ SIGN (R1-1) (INCLUDE ALL ACCESS) COMPLETE IN \$1,053.00 \$500.00 \$2,106.00 \$1.000.00 \$484.00 \$968.00 PLACE \$11,750.90 **REPLACE 4-INCH SANIATRY SEWER LATERALS** \$839.35 Contractor's 14 EΑ 43. \$994.50 \$13,923.00 \$800.00 \$11,200,00 WITH FITTING, COMPLETE IN PLACE Price: \$11,750.94 \$355,634.02 SUM TOTAL BASE BID I (ITEMS 1 THRU 43) \$403,728.48 \$394,788.00 Contractor's Price: \$356,300.63 \$19,739.40 MOBILIZATION \$19,378.97 \$10,689.02 (NOT TO EXCEED 5% OF SUM TOTAL OF BASE BID I) Contractor's Price: \$49,500.00 \$366,323.04 \$414,527.40

Approved By: \_\_/s/\_\_\_ Date: 10/01/2019

SUM TOTAL (BASE BID I AND MOBILIZATION)

\$423,107.45

Contractor's Price: \$414,288.00

Contractor's Price: \$366,989,65



#### **CITY OF EL PASO**

#### **BID TABULATION FORM**



BID TITLE: HOLLY PLACE RECONSTRUCTION

BID NO: 2019-1343

BID DATE: SEPTEMBER 25, 2019

DEPARTMENT: CAPITAL IMPROVEMENT

LOID DE	· · · · · · · · ·	1 E-143 E-3E-17	. 23, 2019			DEFAR	INICITI CAPITA	T IMPROVEMENT	
				Black Stallion (	Contractors, Inc.	Dei Mar Coi	ntracting Inc	Horizone Construction 1, LTD	
1 (0) (0) 2 (0) (0)				El Pa	so, TX	ElPa	so, TX	E! P:	so, TX
n is is	n in the na			BIDDER 1 OF 5		BIDDEF	R 2 OF 5	BIDDE	R 3 OF 5
ITEM NO.	APX QTY	UNIT	BRIEF DESCRIPTION OF ITEM	UNIT PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) DO NOT ROUND ONLY TWO DECIMALS	UNIT PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) DO NOT ROUND ONLY TWO DECIMALS	UNIT PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) DO NOT ROUND ONLY TWO DECIMALS
30 og 1166 30 55 (9)			BASE BID II: 0	N-SITE WATE	R MAIN ADJUS	TMENTS			
1.	673	LF	FURNISH AND INSTALL 8-INCH C-900 PVCWATER PIPE INSTALLED WITH FITTINGS, VALVES, AND ACCESSORIES; COMPLETE IN PLACE	\$93.60	\$62,992.80	\$74.00	\$49,802.00	\$50.68	\$34,107.64 Contractor's
	70.1		FURNISH AND INSTALL 8-INCH DUCTILE IRON (DI)						Price: \$34,106.58 \$15,304.14
2.	201	LF	WATER PIPE INSTALLED WITH FITTINGS, VALVES, AND ACCESSORIES; COMPLETE IN PLACE	\$175.50	\$35,275.50	\$140,00	\$28,140.00	).00 \$76.14	Contractor's Price: \$15,304.72
3.	20	EΑ	REPLACE AND RE-CONNECT 3/4-INCH WATER	64 444 50	*************	64 000 00	#0.4 B00.00	*******	\$21,155.00
3.	20	EA	SERVICE LINE WITH FITTINGS, VALVES, METER BOX AND ACCESSORIES; COMPLETE IN PLACE	\$1,111.50	\$22,230.00	\$1,200.00	\$24,000.00	0.00 \$1,057.7	Contractor's Price: \$21,154.97
4.	1	EA	REPLACE AND RELOCATE EXISTING FIRE HYDRANT ASSEMBLY; COMPLETE WITH FITTINGS, VALVES AND ACCESSORIES	\$6,435.00	\$6,435.00	\$7,000.00	\$7,000.00	\$9,182.51	\$9,182.51
5.	1	EA	REMOVE AND SALVAGE EXISTING FIRE HYDRANT ASSEMBLY	\$702.00	\$702.00	\$2,000.00	\$2,000.00	\$430,11	\$430.11
			FURNISH AND INSTALL 16-INCH STEEL CASING BY TUNNELING, BORING, OR JACKING METHOD,						<b>\$15,08</b> 0.40
6.	30	LF	INSTALLED WITH FITTINGS, VALVES, AND ACCESSORIES; COMPLETE IN PLACE	\$585.00	\$17,550.00	\$950.00	\$28,500.00	\$502.68	Contractor's Price: \$15,080,38
7.	874	LF	TRENCH SAFETY SYSTEM (TRENCH BOX, SHORING	\$11.70	\$10,225.80	\$5.00	\$4,370.00	¢2 70	\$2,429.72
<u>'</u>	014	LI	OR BRACING METHODS), COMPLETE IN PLACE	φ1(./Q	ψ IV,220,0V	φυ,υυ	94,570.00	Ψ2.10	Contractor's Price: \$2,432.34
o	2,000	LB	ADDITIONAL FITTINGS	£4.70	\$2 E20 00	60.00	64.000.00	ද ග	\$6,540.00
8.	2,000	ĽĐ	ADDITIONAL ETT HINGS	\$1.76	\$3,520.00	\$2.00	\$4,000.00	<b>\$</b> 3.21	Contractor's Price: \$6,540.05





BID TITLE: HOLLY PLACE RECONSTRUCTION BID NO: 2019-1343

BID DATE: SEPTEMBER 25, 2019	DEPARTMENT: CAPITAL IMPROVEMENT
2.5 -71, M. G. 1 (M.) -11 (M.) M. 10	DEL MATTERIAL FOR MATTERIAL MATTERIAL

BID DA	TE: SEP	TEMBER	25, 2019				DEPAR	TMENT: CAPITA	L IMPROVEMENT
				Black Stallion Contractors, Inc.		Del Mar Contracting Inc		Horizone Construction 1, LTD	
1000000				El Pa	so, TX	El Pa	so, TX	El Pa	iso, TX
		in av in g		BIDDEI	R 1 OF 5	BIDDEF	R 2 OF 5	BIDDE	R 3 OF 5
ITEM NO.	APX QTY	UNIT	BRIEF DESCRIPTION OF ITEM	UNIT PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) DO NOT ROUND ONLY TWO DECIMALS	UNIT PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) DO NOT ROUND ONLY TWO DECIMALS	UNIT PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) DO NOT ROUND ONLY TWO DECIMALS
Shift No.	18 (1500) (155) 18 (1500)		BASE BID II: O	N-SITE WATE	R MAIN ADJUS	STMENTS		censy of the officery of the property	
9.	1,795	SF	PATCH PAVEMENT CUT AND RESTORATION WITH 2-INCH HMAC, AS PER CITY OF EL PASO SPECIFICATIONS; COMPLETE IN PLACE	· \$7.02	\$12,600.90	\$3.00	\$5,385.00	\$4.00	\$7,180.00
10.	23	CY	CEMENT STABILIZED BACKFILL (2-SACK); UNDER ASPHALT PATCH PAVEMENT AND CONCRETE PAVEMENT, AS PER CITY OF EL PASO	\$163.80	\$3,767.40	\$250.00	\$5,750.00	\$137.76	\$3,168.48 Contractor's
			SPECIFICATIONS, COMPLETE IN PLACE						Price: \$3,168.45
		CUM TO	NTAL PAGE BID II (ITEMS 4 TUDI 40)	2475	200 40	6450			578.00
		SUM IC	OTAL BASE BID II (ITEMS 1 THRU 10)	\$1 <i>1</i> 0,	299.40	\$158, <u>!</u>	947.00	Contractor's P	rice: \$114,580.12
	MOBILIZATION (NOT TO EXCEED 5% OF SUM TOTAL OF BASE BID II)			\$8,414.37		\$7,500.00		\$3,437.40	
		21112 TA	FAL (DASE DID II AMD MODILIZATION)	6400	742 77			\$118,015.40	
			FAL (BASE BID II AND MOBILIZATION)	<b>\$153</b> ,	713.77	\$ 100, <sup>4</sup>	447.00	Contractor's Price: \$118,017.52	





BID TITLE: HOLLY PLACE RECONSTRUCTION

BID NO: 2019-1343

BID DATE: SEPTEMBER 25, 2019

DEPARTMENT: CAPITAL IMPROVEMENT

BID DA	VIE: SEP	IEMBER	₹ 25, 2019	,		~ · · · · · · · · · · · · · · · · · · ·	DEPAR	TMENT: CAPITA	L IMPROVEMENT
				Black Stallion (	Contractors, Inc.	Del Mar Cor	ntracting Inc	Horizone Con	struction 1, LTD
				El Pa	so, TX	ElPa	so, TX	EIPa	so, TX
				BIDDE	R 1 OF 5	BIDDEF	R 2 OF 5		R 3 OF 5
ITEM NO.	APX QTY	UNIT	BRIEF DESCRIPTION OF ITEM	UNIT PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) DO NOT ROUND ONLY TWO DECIMALS	UNIT PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) DO NOT ROUND ONLY TWO DECIMALS	UNIT PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) DO NOT ROUND ONLY TWO DECIMALS
ACCOUNTS OF			BASE BID III: ON-SIT		SEWER MAIN A	DJUSTMENTS	3		
1.	283	LF	FURNISH AND INSTALL 8-INCH SDR 35 POLYVINYL CHLORIDE (PVC) SEWER PIPE COMPLETE, INSTALLED; INCLUDING, BUT NOT LIMITED TO, DEWATERING AND TEMPORARY BY-PASS	\$81.90	\$23,177.70	\$78,00	\$22,074.00	\$62.85	\$17,786.55 Contractor's Price: \$17,787.70
2.	283	LF	FURNISH AND INSTALL 8-INCH DUCTILE IRON (DI) SEWER PIPE COMPLETE, INSTALLED; INCLUDING, BUT NOT LIMITED TO, DEWATERING AND TEMPORARY BY-PASS	\$175,50	\$49,666.50	\$140.00	\$39,620.00	\$126.28	\$35,737.24
			TENFORACI DI-FASS						Contractor's Price: \$35,736.85
3.	1	EA	STANDARD PRE-CAST MANHOLES; 48-INCH COMPLETE IN PLACE	\$4,446.00	\$4,446.00	\$7,000.00	\$7,000.00	\$5,870.67	\$5,870.67
4.	2	EA	CAST-IN-PLACE MANHOLES; 48-INCH COMPLETE IN PLACE	\$4,446.00	\$8,892.00	\$7,000.00	\$14,000.00	\$5,991.38	\$11,982.76
5.	2	EA	ADJUST TO GRADE EXISTING MANHOLE RING AND COVER; AS PER SPECIFICATIONS	\$994.50	\$1,989.00	\$1,200.00	\$2,400.00	\$421.49	\$842.98 Contractor's Price: \$842.97
6.	1	EA	REMOVE AND DISPOSE OF EXISTING MANHOLE; AS PER SPECIFICATIONS	\$1,287.00	\$1,287.00	\$4,500.00	\$4,500.00	\$521.98	\$521.98
7.	14	EA	RE-CONNECT 4-INCH SANITARY SEWER LATERALS WITH FITTINGS, INCLUDING SERVICE TEES, PIPING		\$13,923.00	\$950.00	\$13,300.00	\$047.02	\$13,270.88
۲,	177	5	AND ACCESSORIES; COMPLETE IN PLACE	QU54.00	ψ (Ο,523.00	φσ30,00	\$10,000.00	26.19-60	Contractor's Price: \$13,270.85





BID TITLE: HOLLY PLACE RECONSTRUCTION BID NO: 2019-1343 BID DATE: SEPTEMBER 25, 2019 **DEPARTMENT: CAPITAL IMPROVEMENT** Black Stallion Contractors, Inc. **Del Mar Contracting inc** Horizone Construction 1, LTD El Paso, TX El Paso, TX El Paso, TX BIDDER 1 OF 5 BIDDER 2 OF 5 **BIDDER 3 OF 5 TOTAL AMOUNT** TOTAL AMOUNT **TOTAL AMOUNT** (QUANTITY X UNIT (QUANTITY X UNIT (QUANTITY X UNIT ITEM APX **UNIT PRICE UNIT PRICE UNIT PRICE** PRICE) PRICE) PRICE) UNIT **BRIEF DESCRIPTION OF ITEM** DO NOT ROUND DO NOT ROUND DO NOT ROUND NO. QTY (IN FIGURES) (IN FIGURES) (IN FIGURES) **ONLY TWO ONLY TWO ONLY TWO** DECIMALS **DECIMALS DECIMALS** BASE BID III: ON-SITE SANITARY SEWER MAIN ADJUSTMENTS \$1,573.48 TRENCH SAFETY SYSTEM (TRENCH BOX, SHORING LF \$2.78 Contractor's 8. 566 \$11.70 \$6,622.20 \$5.00 \$2,830.00 OR BRACING METHODS), COMPLETE IN PLACE Price: \$1,575.18 \$87,586,54 SUM TOTAL BASE BID III (ITEMS 1 THRU 8) \$110,003.40 \$105,724.00 Contractor's Price \$87,588.96 MOBILIZATION \$2,627.67 \$5,280.16 \$5,000.00 (NOT TO EXCEED 5% OF SUM TOTAL OF BASE BID III) \$90.214.21

\$115,283.56

\$110,724.00

**SUM TOTAL (BASE BID III AND MOBILIZATION)** 

Contractor's Price \$90,216.62





BID TITLE: HOLLY PLACE RECONSTRUCTION

BID NO: 2019-1343

BID DATE: SEPTEMBER 25, 2019

DEPARTMENT: CAPITAL IMPROVEMENT

	· · · · · · · · · · · · · · · · · · ·	1 milli DC)	( 23, 2019	· · · · · · · · · · · · · · · · · · ·			DEPAR	IMENT: CAPITA	L IMPROVEMENT
				Black Stallion (	Contractors, Inc.	Del Mar Cor	ntracting Inc	Horizone Con	struction 1, LTD
				El Pa	so, TX	ElPa	so, TX	ElPa	so, TX
\$8.00k(v:192)(v)		391890 (B) (G)		BIDDE	R 1 OF 5	BIDDEI	R 2 OF 5	BIDDE	R 3 OF 5
ITEM NO.	APX QTY	UNIT	BRIEF DESCRIPTION OF ITEM	UNIT PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) DO NOT ROUND ONLY TWO DECIMALS	UNIT PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) DO NOT ROUND ONLY TWO DECIMALS	UNIT PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) DO NOT ROUND ONLY TWO DECIMALS
			BASE BID IV	STORM WAT	ER IMPROVEN	MENTS			
1.	231	LF	FURNISH AND INSTALL 24" RCP STORM DRAIN (INCLUDE TRENCHING, TRENCH SAFETY SYSTEM AS APPLICABLE PIPE BEADING, BACKFILL AND	\$210.60	\$48,648.60	\$97.00	\$22,407.00	\$91.28	\$21,085.68
,	2.01	<b></b> 1	DETECTABLE WANING TAPE), COMPLETE IN PLACE	Ψ210.00		\$57.00	\$22,401.00	#31.20	Contractor's Price: \$21,086.23
2.	35	LF	FURNISH AND INSTALL 36" RCP STORM DRAIN (INCLUDE TRENCHING, TRENCH SAFETY SYSTEM AS APPLICABLE PIPE BEDDING BACKFILL AND	\$234.00	\$8,190.00	\$200.00	\$7,000,00	90 \$211.5	<b>\$7</b> ,405.65
			DETECTABLE WANING TAPE), COMPLETE IN PLACE						Contractor's Price: \$7,405.70
3.	2	EΑ	FURNISH AND INSTALL 2-TYPE I INLETS, ALL COLLAR CONNECTIONS TO DRAINS LINES, COMPLETE IN PLACE	\$8,775.00	\$17,550.00	\$9,000.00	\$18,000.00	\$11,996.47	\$23,992.94
4.	1	EA	FURNISH AND INSTALL 7' X 7' JUNCTION BOX, ALL COLLAR CONNECTIONS TO DRAINS LINES, COMPLETE IN PLACE	\$16,380.00	\$16,380.00	\$18,000.00	\$18,000.00	\$24,925.10	\$24,925.10
5.	1	EA	FURNISH AND INSTALL 48" DIAMETER MANHOLES, ALL COLLAR CONNECTIONS TO DRAIN LINES, COMPLETE IN PLACE	\$4,446.00	\$4,446.00	\$5,000.00	\$5,000.00	\$5,983.45	\$5,983.45
6.	1	EA	FURNISH AND INSTALL 72" DIAMETER MANHOLES, ALL COLLAR CONNECTIONS TO DRAIN LINES, COMPLETE IN PLACE	\$8,775.00	\$8,775.00	\$8,000.00	\$8,000.00	\$7,838.75	\$7,838.75





BID TITLE: HOLLY PLACE RECONSTRUCTION			BID NO: 2019-1343
BID DATE: SEPTEMBER 25, 2019		DEPAR	TTMENT: CAPITAL IMPROVEMENT
	Black Stallion Contractors, Inc.	Del Mar Contracting Inc	Horizone Construction 1, LTD
	El Paso, TX	El Paso, TX	El Paso, TX
	BIDDER 1 OF 5	BIDDER 2 OF 5	BIDDER 3 OF 5
BASE BID IV	/: STORM WATER IMPROVE	WENTS	
			\$91,231.57
SUM TOTAL BASE BID IV (ITEMS 1 THRU 6)	\$103,989.60	\$78,407.00	Contractor's Price: \$91,232.18
MOBILIZATION (NOT TO EXCEED 5% OF SUM TOTAL OF BASE BID IV)	\$4,991.50	\$3,500.00	\$2,736,97
CUBATOTAL (DACE DID B) AND MODE IZATIONS	6400.004.40		\$93,968.54
SUM TOTAL (BASE BID IV AND MOBILIZATION)	\$108,981.10	\$81,907.00	Contractor's Price: \$93,969.15
		\$773,605.40	\$668,521.19
SUM TOTAL BASE BID I, BASE BID II, BASE BID III AND BASE BID IV	\$831,085.88	Contractor's Price: \$773,366.00	Contractor's Price: \$669,192.94
AMENDMENTS ACKNOWLEDGED:	Yes	Yes	Yes
BID BOND SUBMITTED	Yes	Yes	Yes





BID TITLE: HOLLY PLACE RECONSTRUCTION BID NO: 2019-1343

			20, 2015	International Eagl	e Enterprises, Inc.	LESNA CONST	RUCTION, INC.	TIMENT. CAPITA	
				El Pa: BIDDEF	so, TX R 4 OF 5	El Par BIDDEF	so, TX R 5 OF 5		
ITEM NO.	APX QTY	UNIT	BRIEF DESCRIPTION OF ITEM	UNIT PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) DO NOT ROUND ONLY TWO DECIMALS	UNIT PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) DO NOT ROUND ONLY TWO DECIMALS		
Ulbrenn DBISH	3656-15-15	li vont visti vois	BASE BID I: HOLLY PLACE	RECONSTRU	CTION DRAIN	AGE IMPROVE	MENTS		
1.	1	LS	STORMWATER POLLUTION PREVENTION MEASURES, COMPLETE IN PLACE	\$15,000.00	\$15,000.00	\$4,500.00	\$4,500.00		
2.	1	LS	TRAFFIC CONTROL, COMPLETE IN PLACE	\$32,000.00	\$32,000.00	\$25,000.00	\$25,000.00		
3.	266	LF	TRENCH SAFETY SYSTEM: TRENCH BOX METHOD OR SHORING, SHEETING, AND BRACING METHOD	\$7.00	\$1,862.00	\$7.00	\$1,862.00		44
4.	2,761	SY	REMOVAL AND DISPOSAL OF EXISTING ASPHALT PAVEMENT	\$5.00	\$13,805.00	\$3.50	\$9,663.50		
5.	693	SF	REMOVAL AND DISPOSAL OF EXISTING CONCRETE DRIVEWAYS	\$3.00	\$2,079.00	\$3.00	\$2,079.00		
6.	2,012	SF	REMOVAL AND DISPOSAL OF EXISTING CONCRETE DRIVEWAYS	\$3.25	\$6,539.00	\$3.00	\$6,036.00		
7.	876	LF	REMOVAL AND DISPOSAL OF EXISTING CURB & GUTTER	\$4.00	\$3,504.00	\$4,00	\$3,504.00		
8.	4,244	SF	REMOVAL AND DISPOSAL OF EXISTING CONCRETE SIDEWALKS	\$1.50	\$6,366.00	\$2.00	\$8,488.00		





BID TITLE: HOLLY PLACE RECONSTRUCTION

BID DA	TE: SEP	FEMBER	25, 2019				DEPAR	TMENT: CAPITA	L IMPROVEMENT
				International Eagl	e Enterprises, Inc.	LESNA CONSTRUCTION, INC.			
			COMO PROGRAMA SE ESTADOS ESTAD	El Par	so, TX	El Pas	30, TX		
		uis de com		BIDDEF	R 4 OF 5	BIDDER			
ITEM NO.	APX QTY	UNIT	BRIEF DESCRIPTION OF ITEM	UNIT PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) DO NOT ROUND ONLY TWO DECIMALS	UNIT PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) DO NOT ROUND ONLY TWO DECIMALS		
			BASE BID I: HOLLY PLACE	RECONSTRU	CTION DRAIN	AGE IMPROVE	MENTS	Maria de la compressión dela compressión de la compressión de la compressión de la compressión de la compressión dela compressión de la co	
9.	29	SF	REMOVAL AND DISPOSAL OF EXISTING CONCRETE WALKWAYS	\$15.00	\$435.00	\$2,00	\$58.00		
10.	1,072	SF	REMOVAL AND DISPOSAL OF EXISTING CONCRETE LANDSCAPING	\$2.00	\$2,144.00	\$2.00	\$2,144.00		
11.	3,560	SF	REMOVAL AND DISPOSAL OF EXISTING GROUND LANDSCAPING	\$1.50	\$5,340.00	\$2.00	\$7,120.00		
12.	6	EA	REMOVAL AND DISPOSAL OF EXISTING VEGETATION	\$350.00	\$2,100.00	\$300.00	\$1,800.00		
13.	. 58	LF	REMOVAL AND DISPOSAL OF EXISTING ROCK WALL	\$15.00	\$870.00	\$30.00	\$1,740.00		
14	208	LF	REMOVAL AND DISPOSAL OF EXISTING CHAIN- LINK FENCE (FENCE & GATES INCLUDED)	\$5.00	\$1,040.00	\$10.00	\$2,080.00		
15.	58	LF	REMOVAL AND DISPOSAL OF EXISTING WROUGHT IRON FENCE (FENCE & GATES INCLUDED)	\$10.00	\$580.00	\$15.00	\$870.00		





BID TITLE: HOLLY PLACE RECONSTRUCTION BID NO: 2019-1343

BID DA	HE: SEP	IEMBER	25, 2019			<sub>~</sub>	DEPAR	TMENT: CAPITA	L IMPROVEMENT
			in de la companya de De la companya de la	International Eagl	e Enterprises, Inc.	LESNA CONST	RUCTION, INC.		
	nga saman sa	n 150 (51 (55 )		El Pa	so, TX	El Par	so, TX		
				BIDDEF	R 4 OF 5	BIDDEF	R 5 OF 5		
ITEM NO.	APX QTY	UNIT	BRIEF DESCRIPTION OF ITEM	UNIT PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) DO NOT ROUND ONLY TWO DECIMALS	UNIT PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) DO NOT ROUND ONLY TWO DECIMALS		
	rijan kendara	grafie zerowa w	BASE BID I: HOLLY PLACE	RECONSTRU	CTION DRAIN	AGE IMPROVE	MENTS		ing the second s
16.	2	LF	REMOVAL AND DISPOSAL OF EXISTING WROUGHT IRON FENCE GATES	\$100.00	\$200.00	\$150.00	\$300.00		
17.	2	EA	REMOVAL AND DISPOSAL OF EXISTING CURB INLETS	\$500.00	\$1,000.00	\$800.00	\$1,600.00		
18.	2	EΑ	REMOVAL AND DISPOSAL OF EXISTING MANHOLES	\$1,000.00	\$2,000.00	\$800.00	\$1,600.00		
19.	62	LF	REMOVAL AND DISPOSAL OF EXISTING STORM PIPE	\$20.00	\$1,240.00	\$20.00	\$1,240.00		
20.	2	EA	REMOVAL OF EXISTING SIGN POSTS, SIGNS RESERVED FOR RELOCATION	\$400.00	\$800.00	\$200.00	\$400.00	The second secon	
21.	451	CY	UNCLASSIFIED EXCAVATION, EXPORT AND PROPER DISPOSAL OF UNSUITABLE SOILS	\$25.00	\$11,275.00	\$15.00	\$6,765.00		
22.	31	CY	EARTHWORKS (CUT TO FILL)	\$100.00	\$3,100.00	\$35.00	\$1,085.00		





BID TITLE: HOLLY PLACE RECONSTRUCTION BID NO: 2019-1343

יים מוט	IL. ULI	FMIDE12	25, 2019	,	· · · · · · · · · · · · · · · · · · ·	ır	DEPAR	IMENI. VACIIA	L IMPROVEMENT
				International Eagl	e Enterprises, Inc.	LESNA CONST	RUCTION, INC.		
istorios (grandi)	(4) (6) (9) (5)	tellerer ar	90000000000000000000000000000000000000	El Pas	so, TX	El Pa	so, TX		
	211 (25 (10 S) 21, 22 (2 S)			BIDDEF	R 4 OF 5	BIDDEF	R 5 OF 5		
ITEM NO.	APX QTY	UNIT	BRIEF DESCRIPTION OF ITEM	UNIT PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) DO NOT ROUND ONLY TWO DECIMALS	UNIT PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) DO NOT ROUND ONLY TWO DECIMALS		
188 TE 18			BASE BID I: HOLLY PLACE	RECONSTRU	CTION DRAIN	AGE IMPROVE	MENTS		
23.	229	CY	IMPORT, SELECT FILL	\$30.00	\$6,870.00	\$25.00	\$5,725.00		
24.	2,729	SY	FURNISH AND INSTALL 2" HMAC, TYPE C, CLASS A, WITH 6" BASE COURSE, TYPE A, GRADE 1, ALL SUBGRADE PREP AND PRIME COAT INCLUSIVE, COMPLETE IN PLACE	\$27.00	\$73,683.00	\$25.00	\$68,225.00		
25.	2,853	sy	SUBGRADE PREPARATION, SCARIFYING NATIVE SOILS TO A DEPTH OF 12 INCHES, COMPLETE IN PLACE	\$3.75	\$10,698.75	\$8.00	\$22,824.00		
26.	257	SY	FURNISH AND INSTALL RESIDENTIAL DRIVEWAY, 3500 PSI 6" CONCRETE W/6X6, W2.9XW2.9 WWF, COMPLETE IN PLACE	\$40.00	\$10,280.00	\$60.00	\$15,420.00		
27.	86	SY	FURNISH AND INSTALL RESIDENTIAL DRIVEWAY EXTENSION, 3500 PSI 6" CONCRETE W/6X6, W2.9XW2.9 WWF, COMPLETE IN PLACE	\$42.00	\$3,612.00	\$60.00	\$5,160.00		
28.	855	LF	FURNISH AND INSTALL 6" CURB & GUTTER , 3000 PSI CONCRETE, COMPLETE IN PLACE	\$16.00	\$13,680.00	\$22.00	\$18,810.00		
29.	278	ĹF	FURNISH AND INSTALL RETAINING CURB, 3000 PSI CONCRETE, COMPLETE IN PLACE	\$15.00	\$4,170.00	\$22.00	\$6,116.00		:
30.	495	SY	FURNISH AND INSTALL 4" CONCRETE SIDEWALK, 3000 PSI, COMPLETE IN PLACE	\$30.00	\$14,850.00	\$45,00	\$22,275.00		





BID NO: 2019-1343

BID TITLE: HOLLY PLACE RECONSTRUCTION

BID DATE: SEPTEMBER 25, 2019  DEPARTMENT: CAPITAL IMPRO  International Eagle Enterprises, Inc.  LESNA CONSTRUCTION, INC.									
	31 (84 (3) 1) (3) (4) (3) (3)			International Eagl	e Enterprises, Inc.	LESNA CONST	RUCTION, INC.		
100.00	(8) (8) (3) (3	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1			so, TX	8	so, TX		
				BIDDEF	R 4 OF 5	BIDDE	R 5 OF 5		
ITEM NO.	APX QTY	UNIT	BRIEF DESCRIPTION OF ITEM	UNIT PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) DO NOT ROUND ONLY TWO DECIMALS	UNIT PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) DO NOT ROUND ONLY TWO DECIMALS		
isku spiedži	480 MOVIES 18	all Maga	BASE BID I: HOLLY PLACE	RECONSTRU	CTION DRAIN	AGE IMPROVE	EMENTS		
31.	4	SY	FURNISH AND INSTALL 4" CONCRETE WALKWAY EXTENSION, 3000 PSI CONCRETE W/ 6"X6" 4/4 WWF, COMPLETE IN PLACE	\$500.00	\$2,000.00	\$100.00	\$400.00		
32.	1,115	SF	FURNISH AND INSTALL 6" CONCRETE VALLEY GUTTER, 3000 PSI CONCRETE, COMPLETE IN PLACE	\$5.00	\$5,575.00	\$12.00	\$13,380.00		
33.	2	EA	FURNISH AND INSTALL ACCESSIBLE RAMP, PER PLAN, COMPLETE IN PLACE	\$1,100.00	\$2,200.00	\$2,250.00	\$4,500.00		
34.	2,821	SY	FURNISH AND INSTALL LANDSCAPE GRAVEL FOR PARKWAY (INCLUDES WEED BARRIER)	\$10.00	\$28,210.00	\$13.50	\$38,083.50		
35.	14	EA	REPLACE/INSTALL MAILBOXES ALONG ROADWAY	\$310.00	\$4,340.00	\$350.00	\$4,900.00		
36.	4	CY	INSTALL 2-SACK FOR MAILBOX REPLACEMENT	\$190.00	\$760.00	\$250.00	\$1,000.00		
37.	61	LF	FURNISH AND INSTALL MASONRY ROCK WALL WITH WROUGHT IRON VIEW FENCE, COMPLETE IN PLACE	\$150.00	\$9,150.00	\$250.00	\$15,250.00		
			RE-INSTALL CHAIN-LINK FENCE AND GATES,				\$7,280.00		
38.	208	LF	COMPLETE IN PLACE	\$32.00	\$6,656.00	\$35.00	Contractor's Price: \$7,380.00		
39.	79	LF	RE-INSTALL WROUGHT IRON FENCE AND GATES, COMPLETE IN PLACE	\$60.00	\$4,740.00	\$95.00	\$7,505.00		





BID TITLE: HOLLY PLACE RECONSTRUCTION BID NO: 2019-1343 BID DATE: SEPTEMBER 25, 2019 **DEPARTMENT: CAPITAL IMPROVEMENT** International Eagle Enterprises, Inc. LESNA CONSTRUCTION, INC. El Paso, TX El Paso, TX **BIDDER 4 OF 5** BIDDER 5 OF 5 TOTAL AMOUNT TOTAL AMOUNT (QUANTITY X UNIT **(QUANTITY X UNIT** ITEM APX **UNIT PRICE** PRICE) **UNIT PRICE** PRICE) UNIT **BRIEF DESCRIPTION OF ITEM** DO NOT ROUND QTY DO NOT ROUND NO. (IN FIGURES) (IN FIGURES) **ONLY TWO ONLY TWO DECIMALS DECIMALS** BASE BID I: HOLLY PLACE RECONSTRUCTION DRAINAGE IMPROVEMENTS 40. 10 EΑ PRESERVING EXISTING TREES \$250.00 \$150.00 \$2,500.00 \$1,500,00 3 **FURNISH AND INSTALL WOOD BOLLARDS** 41. EΑ \$750.00 \$2,250,00 \$200.00 \$600.00 RE-INSTALLATION STREET NAME SIGN & 30" 42. 2 EΑ STOP SIGN (R1-1) (INCLUDE ALL ACCESS) \$750.00 \$1,500.00 \$300.00 \$600.00 COMPLETE IN PLACE **REPLACE 4-INCH SANIATRY SEWER LATERALS** 43. 14 EΑ \$2,100.00 \$700.00 \$29,400.00 \$9,800.00 WITH FITTING, COMPLETE IN PLACE SUM TOTAL BASE BID I (ITEMS 1 THRU 43) \$350,403.75 \$359,288.00 **MOBILIZATION** \$17,520.19 \$17,964.40 (NOT TO EXCEED 5% OF SUM TOTAL OF BASE BID I) SUM TOTAL (BASE BID I AND MOBILIZATION) \$367,923.94 \$377,252.40



#### **CITY OF EL PASO**

#### **BID TABULATION FORM**



BID NO: 2019-1343

אם טומ	HE. JET	LEMBER	t 25, 2019	<del>, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,</del>			DEPAR	TMENT: CAPITA	LIMPROVEMENT
9800 (S) 1881 (S) (S)	1 (4) (2) (6) (4) (4) (4) (4)	i i i i i i i i i i i i i i i i i i i		International Eagl	e Enterprises, Inc.	LESNA CONST	RUCTION, INC.		
		in combonie. Sasubino ac		El Pai	so, TX	El Pa	so, TX		
		9.40 (5.15)		BIDDEF	R4 OF 5		R 5 OF 5	to the manual state of the stat	
ITEM NO.	APX QTY	UNIT	BRIEF DESCRIPTION OF ITEM	UNIT PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) DO NOT ROUND ONLY TWO DECIMALS	UNIT PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) DO NOT ROUND ONLY TWO DECIMALS		
1135 (187.18	enii Peris	inesis este est	BASE BID II: C	N-SITE WATE	R MAIN ADJU	STMENTS			
			FURNISH AND INSTALL 8-INCH C-900 PVCWATER				\$30,285.00		
1.	673	LF	PIPE INSTALLED WITH FITTINGS, VALVES, AND ACCESSORIES; COMPLETE IN PLACE	\$65.00	\$43,745.00	\$45.00	Contractor's Price: \$30,295.00		
2.	201	LF	FURNISH AND INSTALL 8-INCH DUCTILE IRON (DI) WATER PIPE INSTALLED WITH FITTINGS, VALVES, AND ACCESSORIES; COMPLETE IN PLACE		\$20,100.00	\$65.00	\$13,065.00		
3.	20	EA	REPLACE AND RE-CONNECT 3/4-INCH WATER SERVICE LINE WITH FITTINGS, VALVES, METER BOX AND ACCESSORIES; COMPLETE IN PLACE	\$1,000.00	\$20,000.00	\$900.00	\$18,000.00		
4.	1	ĒΑ	REPLACE AND RELOCATE EXISTING FIRE HYDRANT ASSEMBLY; COMPLETE WITH FITTINGS, VALVES AND ACCESSORIES	\$7,200.00	\$7,200.00	\$7,500.00	\$7,500.00		
5.	1	EA	REMOVE AND SALVAGE EXISTING FIRE HYDRANT ASSEMBLY	\$1,000.00	\$1,000.00	\$350.00	\$350.00		
6.	30	LF	FURNISH AND INSTALL 16-INCH STEEL CASING BY TUNNELING, BORING, OR JACKING METHOD, INSTALLED WITH FITTINGS, VALVES, AND ACCESSORIES; COMPLETE IN PLACE	\$900.00	\$27,000.00	\$450.00	\$13,500.00		
7.	874	LF	TRENCH SAFETY SYSTEM (TRENCH BOX, SHORING OR BRACING METHODS), COMPLETE IN PLACE	\$4.00	\$3,496.00	\$3.00	\$2,622.00		
8.	2,000	LB	ADDITIONAL FITTINGS	\$4.75	\$9,500.00	\$2.60	\$5,200.00		





BID NO: 2019-1343

BID TITLE: HOLLY PLACE RECONSTRUCTION

ID DATE: SEPTEMBER 25, 2019	DEPARTMENT: CAPITAL IMPROVEMEN
ing on had a grown a survey or the grown and g	DELAGINETI ONLINE INTERIO ONLINE INTERIO ONLINE

BID DA	TE: SEPT	EMBER	25, 2019				DEPAR	RTMENT: CAPITA	AL IMPROVEMENT
				International Eagl	e Enterprises, Inc.	LESNA CONSTRUCTION, INC.			
	0.000.000.000.00			El Pa	so, TX	El Pa	so, TX		
40177787800	1300		economic de la companya de la compa	BIDDEF	R4OF5	BIDDEI	R 5 OF 5		
ITEM NO.	APX QTY	UNIT	BRIEF DESCRIPTION OF ITEM	UNIT PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) DO NOT ROUND ONLY TWO DECIMALS	UNIT PRICE (IN FIGURES)  (IN FIGURES)  (IN EGURES)  (IN FIGURES)  (IN FIGURES)  (IN FIGURES)  (IN FIGURES)  (IN FIGURES)  (IN FIGURES)			
	Digina Co	alusano (Cita)	BASE BID II: C	N-SITE WATE	R MAIN ADJU	STMENTS	e distinction primaries estimates and a		
9.	1,795	SF	PATCH PAVEMENT CUT AND RESTORATION WITH 2-INCH HMAC, AS PER CITY OF EL PASO SPECIFICATIONS; COMPLETE IN PLACE	\$10.00	\$17,950.00	\$8.00	\$14,360.00		
10.	23	CY	CEMENT STABILIZED BACKFILL (2-SACK); UNDER ASPHALT PATCH PAVEMENT AND CONCRETE PAVEMENT, AS PER CITY OF EL PASO SPECIFICATIONS, COMPLETE IN PLACE	\$190.00	\$4,370.00				
	,	SUM TO	TAL BASE BID II (ITEMS 1 THRU 10)	\$154,361.00		\$107,872.00			
	MOBILIZATION (NOT TO EXCEED 5% OF SUM TOTAL OF BASE BID II)			\$7,718.05		\$5,393.60			
	SUM TOTAL (BASE BID II AND MOBILIZATION)			\$162,6	79.05	\$113,265.60			





BID TITLE: HOLLY PLACE RECONSTRUCTION

BID NO: 2019-1343

RID DA	TE: SEP	TEMBER	25, 2019	<del></del>			DEPAR	TMENT: CAPITA	L IMPROVEMENT
Carre a				International Eagl	e Enterprises, Inc.	LESNA CONST	RUCTION, INC.		
				El Pa	so, TX	El Pa	so, TX	or manage of the contract of t	
	98 (1971)	Kr. (80, 96), 613			R4 OF 5		5 OF 5		
ITEM NO.	APX QTY	UNIT	BRIEF DESCRIPTION OF ITEM	UNIT PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) DO NOT ROUND ONLY TWO DECIMALS	UNIT PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) DO NOT ROUND ONLY TWO DECIMALS		
	rdinar di	G/0881/08/49	BASE BID III: ON-SIT		SEWER MAIN	<b>ADJUSTMENT</b>	<b>S</b>		1745-05778 (6), 527, 407(8)
1.	283	LF	FURNISH AND INSTALL 8-INCH SDR 35 POLYVINYL CHLORIDE (PVC) SEWER PIPE COMPLETE, INSTALLED; INCLUDING, BUT NOT LIMITED TO, DEWATERING AND TEMPORARY BY-PASS	\$65.00	\$18,395.00	\$55.00	\$15,565.00		
2.	283	LF	FURNISH AND INSTALL 8-INCH DUCTILE IRON (DI) SEWER PIPE COMPLETE, INSTALLED, INCLUDING, BUT NOT LIMITED TO, DEWATERING AND TEMPORARY BY-PASS	\$105.00	\$29,715.00	\$115.00	\$32,545.00		
3.	1	EA	STANDARD PRE-CAST MANHOLES; 48-INCH COMPLETE IN PLACE	\$4,200.00	\$4,200.00	\$4,800.00	\$4,800.00		
4.	2	EA	CAST-IN-PLACE MANHOLES; 48-INCH COMPLETE IN PLACE	\$4,500.00	\$9,000.00	\$5,000.00	\$10,000.00		
5.	2	EA	ADJUST TO GRADE EXISTING MANHOLE RING AND COVER; AS PER SPECIFICATIONS	\$1,100.00	\$2,200.00	\$350.00	\$700.00		
6.	1	EA	REMOVE AND DISPOSE OF EXISTING MANHOLE; AS PER SPECIFICATIONS	\$1,000.00	\$1,000.00	\$500.00	\$500.00		
7.	14	EA	RE-CONNECT 4-INCH SANITARY SEWER LATERALS WITH FITTINGS, INCLUDING SERVICE TEES, PIPING AND ACCESSORIES; COMPLETE IN PLACE	\$950.00	\$13,300.00	\$850.00	\$11,900.00		





BID TITLE: HOLLY PLACE RECONSTRUCTION BID NO: 2019-1343 BID DATE: SEPTEMBER 25, 2019 **DEPARTMENT: CAPITAL IMPROVEMENT** International Eagle Enterprises, Inc. LESNA CONSTRUCTION, INC. El Paso, TX El Paso, TX BIDDER 4 OF 5 BIDDER 5 OF 5 TOTAL AMOUNT **TOTAL AMOUNT (QUANTITY X UNIT (QUANTITY X UNIT** ITEM APX **UNIT PRICE** PRICE) **UNIT PRICE** PRICE) UNIT **BRIEF DESCRIPTION OF ITEM** NO. QTY (IN FIGURES) DO NOT ROUND (IN FIGURES) DO NOT ROUND ONLY TWO **ONLY TWO DECIMALS DECIMALS** BASE BID III: ON-SITE SANITARY SEWER MAIN ADJUSTMENTS TRENCH SAFETY SYSTEM (TRENCH BOX, LF SHORING OR BRACING METHODS), COMPLETE IN 8. 566 \$4.00 \$2,264.00 \$3.00 \$1,698.00 PLACE SUM TOTAL BASE BID III (ITEMS 1 THRU 8) \$80,074.00 \$77,708.00 MOBILIZATION \$4,003.70 \$3,885.40 (NOT TO EXCEED 5% OF SUM TOTAL OF BASE BID III) SUM TOTAL (BASE BID III AND MOBILIZATION) \$84,077.70 \$81,593.40





BID NO: 2019-1343

DID DA	I I III VILL	1 11111111111	x 20, 2019				DEPAR	TINEITT, CAPITA	L IMPROVEMENT
				International Eagl	e Enterprises, Inc.	LESNA CONST	RUCTION, INC.		
80 (G) (S				ElPa	so, TX	FIPa	so, TX		
0123 (11) 119			Period Charles and		R 4 OF 5	il	R 5 OF 5		
ITEM NO.	APX QTY	UNIT	BRIEF DESCRIPTION OF ITEM	UNIT PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) DO NOT ROUND ONLY TWO DECIMALS	UNIT PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) DO NOT ROUND ONLY TWO DECIMALS		
Visconia (C	55000 ibs		BASE BID IV	STORM WAT	TER IMPROVE	MENTS			
Çen ,	231	LF	FURNISH AND INSTALL 24" RCP STORM DRAIN (INCLUDE TRENCHING, TRENCH SAFETY SYSTEM AS APPLICABLE PIPE BEADING, BACKFILL AND DETECTABLE WANING TAPE), COMPLETE IN PLACE	\$90.00	\$20,790.00	\$80.00	\$18,480.00		
2.	35	LF	FURNISH AND INSTALL 36" RCP STORM DRAIN (INCLUDE TRENCHING, TRENCH SAFETY SYSTEM AS APPLICABLE PIPE BEDDING BACKFILL AND DETECTABLE WANING TAPE), COMPLETE IN PLACE	\$175.00	\$6,125.00	\$172.00	\$6,020.00		
3.	2	EA	FURNISH AND INSTALL 2-TYPE I INLETS, ALL COLLAR CONNECTIONS TO DRAINS LINES, COMPLETE IN PLACE	\$7,500.00	\$15,000.00	\$9,500.00	\$19,000.00		
4.	1	EA	FURNISH AND INSTALL 7' X 7' JUNCTION BOX, ALL COLLAR CONNECTIONS TO DRAINS LINES, COMPLETE IN PLACE	\$13,000.00	\$13,000.00	\$19,500.00	\$19,500.00		
5.	1	EΑ	FURNISH AND INSTALL 48" DIAMETER MANHOLES, ALL COLLAR CONNECTIONS TO DRAIN LINES, COMPLETE IN PLACE	\$8,000.00	\$8,000.00	\$5,200.00	\$5,200.00		
6.	1	EΑ	FURNISH AND INSTALL 72" DIAMETER MANHOLES, ALL COLLAR CONNECTIONS TO DRAIN LINES, COMPLETE IN PLACE	\$7,500.00	\$7,500.00	\$11,000.00	\$11,000.00		





BID TITLE: HOLLY PLACE RECONSTRUCTION			BID NO: 2019-1343
BID DATE: SEPTEMBER 25, 2019 DEPARTMENT: CAPITAL IMPROVEME			
	International Eagle Enterprises, Inc.	LESNA CONSTRUCTION, INC.	
	El Paso, TX BIDDER 4 OF 5	El Paso, TX BIDDER 5 OF 5	
BASE BID	IV: STORM WATER IMPROVE		
SUM TOTAL BASE BID IV (ITEMS 1 THRU 6)	\$70,415.00	\$79,200.00	
MOBILIZATION (NOT TO EXCEED 5% OF SUM TOTAL OF BASE BID IV)	\$3,520.75	\$3,960.00	
SUM TOTAL (BASE BID IV AND MOBILIZATION)	\$73,935.75	\$83,160.00	
SUM TOTAL BASE BID I, BASE BID II, BASE BID III AND BASE BID IV	\$688,016.44	\$655,271.40	

#### 2019-1343 Holly Place Reconstruction View List

	VICW LIST
45 Counts, Tim	Accent Landscape Con
46 Woody, Rhonda	Signal 88 Security
47 Kevwitch, Kimberly	Metal Sales
48 Saenz, Amadeo	J. D. Abrams, L.P.
49 Soto, Karla	
50 Medina, Mercedes	MIRADOR Enterprises,
51 Abshagen, Samantha	Complete Remodeling
52 Lorena, Campos	Aspen BUIlders
53 Watson, Frank	
54 Molina, Marcos	International Eagle
55 Leos, Joaquin	International Eagle
56 Steve, Teran	DAndH United
57 Salas, Vanessa	Ivan's Pumping Servi
58 Flores, Amada	Aim Construction Com
59 Baca, Ricardo	El Paso Bid Deposito
60 Gibson, Patty	Construction Bid Sou
61 Hernandez, Carlos	Lesna Construction,
62 Hessney, Steve	Bowen Industrial Con
63 Hernandez, Alberto	
64 Ramirez, Sal	J Carrizal Construct
65 Brooks, Lewis	
66 Martinez, Alonso	
67 Silva, Basilio	Vistacon Ventures
68 Fournier, Kari	Verdacity, LLC
69 Amaya, Ruth	El Paso Contractors,
70 Gallegos, Mari	Abescape
71 Luna, Hector	<b>Black Stallion Contr</b>
72 Rodriguez, Richard	Americhoice Construc
73 Delgado, Alberto	Delgado's Repair
74 Mims, Valerie	Burke Insurance Grou
75 Pfizenmaier, Karl	Traffic Logix
76 Devonish, Kevin	DEVO Design
77 Williams P.E., Dave	Mr.
78 Valenzuela, Zandra	Ferguson Waterworks
79 Naranjo, Lizandro	Lizandro Naranjo
80 Mejia, Saul	Horizone Constructio
81 Martinez, Avelardo	Martinez Irrigation
82 Tanzy, Russell	Mesa electrical cont
83 Fan, Tommy	
84 Reyes, Yesenia	
85 Jaramillo, Jorge	Fulcrum Contracting
86 Ortiz, Cano	Mr.
87 Morris, Bryan	RBM Engineeering, In
88 Navarrete, Jorge	Parkhill Smith And C

#### 2019-1343 Holly Place Reconstruction View List

89 Tyree, Bruno CONTRACTOIRS & ENGIN

90 Construction, Ztex Ztex Construction 91 Soto, Mauro JMR Demolition

92 Harrison, Mike DEL MAR CONTRACTING, 93 Allen, Steve SPARTAN CONSTRUCTION